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. The fundamental solution Uj(z, s) satisfies

d*U;(z, s
% = §(z — ) (1)
where . ,
=(x —s)°, T > s,
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Please derive the stiiffness matrix of K.

It Uy(x, s) = 2nUy (z, s), please derive the stiiffness matrix of K.

Af Us(x,s) = Up(z, s) + a where a is a constant, please derive the stiiffness matrix
of K.

f Uy(z,s) = Uy(z,s) + a + br where a and b are constants, please derive the

stiiffness matrix of K.

f Us(z,8) = Uy(x, s) + a + bz + cx? where a,b and c are constants, please derive

the stiiffness matrix of K.

I Us(z, s) = Uy(z, s) + a+ bx + cx® + dz® where a, b, ¢ and d are constants, please

derive the stiiffness matrix of K.
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